



CORRIGENDUM OF THE PAPER ENTITLED: ON THE LOCATION OF ZEROS OF A CERTAIN CLASS OF POLYNOMIALS WITH RESTRICTED COEFFICIENTS

Adesanmi Alao Mogbademu¹ and Jerome Ajayi Adepoju²

¹Research Group in Mathematics and Applications
Department of Mathematics, University of Lagos
Lagos- Nigeria
e-mail: amogbademu@unilag.edu.ng

²Department of Mathematics and Computer Science
Federal University of Petroleum Resources, Effurum- Nigeria
e-mail: adepoju.jerome@fupre.edu.ng

Abstract. This paper is a corrigendum on a paper published in a recent volume of Nonlinear Functional Analysis and Applications: On the location of zeros of a certain class of polynomials with restricted coefficients, 23(2) (2018), 305-309. <http://nfaa.kyungnam.ac.kr/journal-nfaa>.

For a polynomial $P_\mu(z) = a_0 + \sum_{j=\mu}^n a_j z^j$ of degree n , where $a_0 \neq 0$ and for some reals $\rho_1, \rho_2 \geq 0$, $t > 0$ and $1 \leq \mu \leq \lambda \leq n$.

The conditions

$$\rho_1 + t^n a_n \leq t^{n-1} a_{n-1} \leq \dots \leq t^{\lambda+1} a_{\lambda+1} \leq t^\lambda a_\lambda \geq t^{\lambda-1} a_{\lambda-1} \geq \dots \geq t^\mu a_\mu \geq a_0 - \rho_2$$

imposed on the complex coefficients of the polynomial $P_\mu(z)$ given in Theorem 2.1, Corollary 2.2 and Corollary 2.3 [1] are not sufficient to prove the following results

⁰Received February 1, 2020. Revised February 5, 2020.

⁰2000 Mathematics Subject Classification: 30C10, 30C15.

⁰Keywords: Corrigendum, locating zeros, Eneström-Kakeya theorem.

⁰Corresponding author: A. A. Mogbademu(amogbademu@unilag.edu.ng).

$$\left|z - \frac{\rho_1}{a_n}\right| \leq \frac{1}{|a_n|} \left(-a_n t + \rho_1 - \frac{a_{\mu-1}}{t^{n-1}} + \frac{2\rho_2}{t^{n-1}} + \frac{|a_{\mu-1}|}{t^{n-1}} + \frac{2a_\lambda}{t^{n-\lambda-1}}\right).$$

The mistake appears in line 25 page 2 of the proof of Theorem 2.1 [1].

It is easy to see that the condition $\rho_1 \geq 0$ may not be possible because by taking ρ_1 to be very large, $\rho_1 + t^n a_n$ cannot be less than $t^{n-1} a_{n-1}$. Infact, the restrictions should read

$$t^n a_n - \rho_1 \leq t^{n-1} a_{n-1} \leq \dots \leq t^{\lambda+1} a_{\lambda+1} \leq t^\lambda a_\lambda \geq t^{\lambda-1} a_{\lambda-1} \geq \dots \geq t^\mu a_\mu \geq a_0 - \rho_2.$$

Therefore, Theorem 2.1 [1] becomes:

Theorem 1. Let $P_\mu(z) = a_0 + \sum_{j=\mu}^n a_j z^j$ where $a_0 \neq 0$, and for some reals $\rho_1, \rho_2 \geq 0, t > 0, 1 \leq \mu \leq \lambda \leq n$, and

$$t^n a_n - \rho_1 \leq t^{n-1} a_{n-1} \leq \dots \leq t^{\lambda+1} a_{\lambda+1} \leq t^\lambda a_\lambda \geq t^{\lambda-1} a_{\lambda-1} \geq \dots \geq t^\mu a_\mu \geq a_0 - \rho_2.$$

Then all the zeros of $P_\mu(z)$ lie in the union of the disks $|z| \leq t$ and

$$\left|z - \frac{\rho_1}{a_n}\right| \leq \frac{1}{|a_n|} \left(-a_n t + \rho_1 - \frac{a_{\mu-1}}{t^{n-1}} + \frac{2\rho_2}{t^{n-1}} + \frac{|a_{\mu-1}|}{t^{n-1}} + \frac{2a_\lambda}{t^{n-\lambda-1}}\right).$$

Proof. Consider the polynomial

$$\begin{aligned} F(z) &= (t-z)P_\mu(z) \\ &= a_0(t-z) + \sum_{j=\mu}^n a_j t z^j - \sum_{j=\mu+1}^{n+1} a_{j-1} z^j \\ &= a_0 t + (a_{\mu-1} - a_0 - \rho_2)z + \rho_2 z - a_{\mu-1} z + a_\mu t z^\mu \\ &\quad + (a_n t - a_{n-1})z^n + \sum_{j=\mu+1}^{n-1} (a_j t - a_{j-1})z^j - a_n z^{n+1} \\ &= -a_n z^{n+1} + (-\rho_1 - a_n t)z^n + a_\mu t z^\mu + (a_n t + \rho_1 - a_{n-1})z^n \\ &\quad + a_n t z^n + a_0 t + (a_{\mu-1} - a_0 - \rho_2)z + \rho_2 z - a_{\mu-1} z \\ &\quad + (a_{\mu+1} t - a_\mu)z^{\mu+1} + \sum_{j=\mu+1}^{n-1} (a_j t - a_{j-1})z^j. \end{aligned}$$

Then we have

$$\begin{aligned} |F(z)| &= \left| -a_n z^{n+1} + (-\rho_1 - a_n t)z^n + a_\mu t z^\mu + (a_n t + \rho_1 - a_{n-1})z^n \right. \\ &\quad \left. + a_n t z^n + a_0 t + (a_{\mu-1} - a_0 + \rho_2)z - \rho_2 z - a_{\mu-1} z \right. \\ &\quad \left. + (a_{\mu+1} t - a_\mu)z^{\mu+1} + \sum_{j=\mu+2}^\lambda (a_j t - a_{j-1})z^j \right. \\ &\quad \left. + \sum_{j=1+\lambda}^{n-1} (a_j t - a_{j-1})z^j \right| \\ &= \left| z^n (-a_n z + \rho_1 + (a_n t - \rho_1 - a_{n-1})) + \frac{(a_{\mu+1} t - a_\mu)z^{\mu+1}}{z^n} + \frac{a_\mu t z^\mu}{z^n} \right. \\ &\quad \left. + \frac{a_0 t + (a_{\mu-1} - a_0 + \rho_2)z - \rho_2 z - a_{\mu-1} z}{z^n} + \sum_{j=\mu+2}^\lambda \frac{(a_j t - a_{j-1})z^j}{z^n} \right. \\ &\quad \left. + \sum_{j=1+\lambda}^{n-1} \frac{(a_j t - a_{j-1})z^j}{z^n} \right| \\ &\geq |z|^n |a_n z - \rho_1| - |z|^n \left[|a_n t - \rho_1 - a_{n-1}| + \frac{|a_{\mu+1} t - a_\mu|}{|z|^{n-\mu-1}} + \frac{|a_\mu|}{|z|^{n-\mu}} \right. \\ &\quad \left. + \frac{|a_0|t}{|z|^n} + \frac{|a_{\mu-1} - a_0 + \rho_2|}{|z|^{n-1}} + \frac{\rho_2}{|z|^{n-1}} \right. \\ &\quad \left. + \frac{|a_{\mu-1}|}{|z|^{n-1}} + \sum_{j=\mu+2}^\lambda \frac{|a_j t - a_{j-1}|}{|z|^{n-j}} + \sum_{j=1+\lambda}^{n-1} \frac{|a_j t - a_{j-1}|}{|z|^{n-j}} \right]. \end{aligned}$$

Now, let $|z| \geq t$, so that $\frac{1}{|z|^{n-j}} \leq \frac{1}{t^{n-j}}$ for $1 \leq \mu \leq j \leq n$. Then, we have

$$\begin{aligned}
 |F(z)| &\geq |z|^n \left[|a_n z - \rho_1| - \left| (-a_n t + \rho_1 + a_{n-1} + \frac{a_\mu}{t^{n-\mu-1}} \right. \right. \\
 &\quad + \frac{a_0}{t^{n-1}} - \frac{a_{\mu-1}}{t^{n-1}} - \frac{a_0}{t^{n-1}} + \frac{\rho_2}{t^{n-1}} + \frac{\rho_2}{t^{n-1}} \\
 &\quad + \frac{|a_{\mu-1}|}{t^{n-1}} + \frac{a_\lambda}{t^{n-\lambda-1}} - \sum_{j=\mu+2}^{\lambda-1} \frac{a_\mu}{t^{n-\mu-1}} - \sum_{j=\mu+2}^{\lambda-1} \frac{a_j}{t^{n-j-1}} \\
 &\quad \left. \left. + \frac{a_\lambda}{t^{n-\lambda-1}} + \sum_{j=\lambda+1}^{n-2} \frac{a_j}{t^{n-\lambda-1}} - a_{n-1} - \sum_{j=\lambda+1}^{n-2} \frac{a_j}{t^{n-\lambda-1}} \right) \right] \\
 &> 0.
 \end{aligned}$$

It is easy to see that

$$|a_n z - \rho_1| > (-a_n t + \rho_1 - \frac{a_{\mu-1}}{t^{n-1}} + \frac{2\rho_2}{t^{n-1}} + \frac{|a_{\mu-1}|}{t^{n-1}} + \frac{2a_\lambda}{t^{n-\lambda-1}}),$$

that is,

$$|z - \frac{\rho_1}{a_n}| > \frac{1}{|a_n|} (-a_n t + \rho_1 - \frac{a_{\mu-1}}{t^{n-1}} + \frac{2\rho_2}{t^{n-1}} + \frac{|a_{\mu-1}|}{t^{n-1}} + \frac{2a_\lambda}{t^{n-\lambda-1}}),$$

then all the zeros of $F(z)$ whose modulus is greater than or equal to t lie in

$$|z - \frac{\rho_1}{a_n}| \leq \frac{1}{|a_n|} (-a_n t + \rho_1 - \frac{a_{\mu-1}}{t^{n-1}} + \frac{2\rho_2}{t^{n-1}} + \frac{|a_{\mu-1}|}{t^{n-1}} + \frac{2a_\lambda}{t^{n-\lambda-1}}).$$

But observe that all the zeros of $P_\mu(z)$ are also the zeros of $F(z)$. Hence it follows that all the zeros of $F(z)$ and hence of $P_\mu(z)$ lie in the union of the disks $|z| \leq t$ and

$$|z - \frac{\rho_1}{a_n}| \leq \frac{1}{|a_n|} (-a_n t + \rho_1 - \frac{a_{\mu-1}}{t^{n-1}} + \frac{2\rho_2}{t^{n-1}} + \frac{|a_{\mu-1}|}{t^{n-1}} + \frac{2a_\lambda}{t^{n-\lambda-1}}).$$

This completes the proof of Theorem 1. □

REFERENCES

[1] A.A. Mogbademu and J.A. Adepoju, *On the location of zeros of a certain class of polynomials with restricted coefficients*, Nonlinear Funct. Anal. Appl., **23**(2) (2018), 305-309.